
Match the answers 1-5 to the follow-up comments a-e.

 It's nice. It's a famous old city.
 It's nice. It's a big seaside resort.
 It's nice. It's a very cosmopolitan place.
 It's OK, but it's quite polluted.
 It's nice. It's a very modern city.

1.
2.
3.
4.
5.

5. It's right in the city centre,
6. It's right next to the sea,
7. It's right in the middle of England,
8. It's right out in the country,
9. It's right opposite a park with some
tennis courts,

a. so we go swimming most days. It's lovely.
b. so I walk everywhere.
c. so it's easy to travel round the country.
d. so we play nearly every day in the summer.
e. so it takes ages to get into town every day for
work.

a. It's really lively in the summer, but it's dead in the
winter.
b. It's got a really good new transport system, so it's
easy to get round. 
c. The traffic's really heavy, especially during rush hour.
d. The centre dates back more than six hundred years.
e. There are people from all over the world there.

6. It's OK, but the climate's horrible.
7. It's OK. It's a big commercial centre.
8. It's OK, but it's very small.
9. It's not very nice. It's a big industrial city.
10. It's not that nice. It's a big port.

f. All the ferries to the islands leave from there.
g. It's freezing in the winter and it's really hot and humid in
the summer.
h. There's nothing much to do there. I left to go to university.
i. A lot of big companies and banks have their offices there..
j. Toyota have a big car plant there.
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Look at the pairs of sentences below and decide
which sentence (a or b) matches the picture.

1)

a. It's on the south coast.
b. It's off the south coast.

2)

a. It's on Oxford Street.
b. It's off Oxford Street.

3)

a. It's in the south Beijing.
b. It's south of Beijing.

4)

a. It's an area in the west of Madrid.
b. It's a place just west of Madrid.

Make sentences by matching the beginnings 5-9 to
endings a-e.

Now match the answers 6-10 to the follow-up
comments f-j.

Location of Places



Match the answers 1-5 to the follow-up comments
a-e.

 It's nice. It's a famous old city.
 It's nice. It's a big seaside resort.
It's nice. It's a very cosmopolitan place.
It's OK, but it's quite polluted.
It's nice. It's a very modern city.

1.
2.
3.
4.
5.

a. It's on Oxford Street.
b. It's off Oxford Street.

a. It's in the south Beijing.
b. It's south of Beijing.

a. It's an area in the west of Madrid.
b. It's a place just west of Madrid.

a. It's really lively in the summer, but it's dead in the
winter.
b. It's got a really good new transport system, so it's
easy to get round. 
c. The traffic's really heavy, especially during rush hour.
d. The centre dates back more than six hundred years.
e. There are people from all over the world there.

f. All the ferries to the islands leave from there.
g. It's freezing in the winter and it's really hot and humid in
the summer.
h. There's nothing much to do there. I left to go to university.
i. A lot of big companies and banks have their offices there..
j. Toyota have a big car plant there.

5. It's right in the city centre,
6. It's right next to the sea,
7. It's right in the middle of England,
8. It's right out in the country,
9. It's right opposite a park with some
tennis courts,

a.  so we go swimming most days. It's lovely.
b. so I walk everywhere.
c. so it's easy to travel round the country.
d. so we play nearly every day in the summer.
e. so it takes ages to get into town every day for
work.

6. It's OK, but the climate's horrible.
7. It's OK. It's a big commercial centre.
8. It's OK, but it's very small.
9. It's not very nice. It's a big industrial city.
10. It's not that nice. It's a big port.
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Look at the pairs of sentences below and decide
which sentence (a or b) matches the picture.

1)

a. It's on the south coast.
b. It's off the south coast.

2)

3)

4)

Make sentences by matching the beginnings 5-9
to endings a-e.

Now match the answers 6-10 to the follow-up
comments f-j.

Location of Places


